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5. When electrons move from the
conduction band to the valence

10.4  Rms values have the same heating band in an LED, these electrons
effect as a direct current of the same release energy in the form of light.
magnitude. When calculating power Different colours of LED is achieved
it is better to use rms values as that by using diodes with different sized
will give better indication of heating energy gaps between the valence
effect. and conduction band.
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    PHYSICAL SCIENCES GRADE 12 

QUESTION 1







1.1  
acceleration
              (1)




1.2  
Huygens principle
   (1)


1.3     Generator/dynamo
    (1)
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QUESTION 2

2.1  
2½v south









   (2)

2.2  
red, GREEN and blue







   (2)

2.3  
…effect of force on flowing electrons ….




   (2)
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QUESTION 3

	3.1
	A
	B
	C
	D

	3.2
	A
	B
	C
	D

	3.3
	A
	B
	C
	D








[3 X 2 = 6]





     



           TOTAL SECTION A : 15
QUESTION 4

4.1
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(4)
4.2
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t (s)



1 mark for shape

1 mark for starting and ending correctly

(2)
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QUESTION 5

5.1
The work done by the net force on an object is equal to the change in its energy.
(2)
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5.3
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QUESTION 6
6.1.1
Towards


(2)

6.1.2
400Hz



(2)

6.1.3
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(5)
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6.2
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6.3
BLUE     (2)
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QUESTION 7
7.1
AC: will have slip rings(
DC: will have split ring commutator

7.2








(axes     (shape
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7.3
Split ring commutator: ( 
pathway for current between stationary and moving parts(





Changes current direction in armature every ½ turn
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QUESTION 8

8.1



8.2.1



8.2.2



8.3
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